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PART A: Grammar
Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or

phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best complete the sentence.

Then mark your answer sheet.

Your father and I care about you because you’re our child. That’s why we ............ you to study well all
the time.

1) are advising 2) ever advise 3) won’t be advising 4) advise

Janet is home, but you can’t call her right now. I ............ she’s busy at the moment. She’s washing her
hair.

1) thought 2) am thinking 3) think 4) have thought

I wish you hadn’t called me. I ............ a beautiful dream when you woke me up.

1) was having 2) had had 3) have had 4) have been having

I can’t go to the restaurant with my friends on the weekend, because I ............ my brother on that day.
1) would meet 2) am meeting 3) could meet 4) have met

Excuse me, I’m calling from room 104. I have a problem with the TV. I turned it off an hour ago and I
can’t turn it on again. I have even changed the remote control batteries, but it ............ .

1) couldn’t work 2) hasn’t worked 3) hadn’t worked 4) won’t work

| PR . It’s getting dark. I’m cycling home, and I haven’t got any lights on my bike.

1) had better go 2) will go 3) could have gone 4) went

Don’t worry about this book. I ............ it by the time it’s due back to the library, so you are not going to
pay extra money to the library.

1) am reading 2) read 3) will have read 4) am going to read

Last week we were in LA. When we went to the coffee shop, I ordered just a glass of orange juice. I
............ drinking coffee.

1) won’t be 2) am not 3) might not 4) am not used to

You can’t find Mark in his office at this time. He usually ............ lunch at around 1 and now it’s 1:15.
You should come back in an hour.

1) is going to have 2) has got 3) has 4) will have

I visited the doctor yesterday and he told me to wear glasses. You’re my only friend who wears glasses.
How long ............ glasses? How does it feel?

1) have you been wearing 2) had you worn

3) did you wear 4) will you wear

PART B: Vocabulary
Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words

or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best complete the sentence.

11-

12-

13-

14-

Then mark the correct choice on your answer sheet.

Her father kept telling Emilia that her problem is not a big deal. Maybe he was trying to protect her,

but more likely he was simply trying to ............ the problem.

1) exaggerate 2) conceal 3) ruin 4) guess

He wasted no time finding himself a/an ............ when she refused to be his secretory in the office.
1) concert 2) occupation 3) corridor 4) replacement

You’re actually going to sell mom’s house and car and buy yourself a new house? Are you kidding me?
How did you ............ mom to agree to this?

1) hide 2) accumulate 3) persuade 4) admonish

The study reignited a long-term ............... over the effects of child care and made many working
parents anxious.

1) adjunct 2) element 3) combination 4) debate
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15- This meeting is with the capital companies and it’s very important. So, we must ............ the deepest
meaning of the terms we are trying to be accurate about.
1) probe 2) corrupt 3) lessen 4) broach

16- She knew her father was in an important meeting at work, and she didn’t want to ............ him. So, she
just called the secretary and left a message.
1) polish 2) bargain 3) disturb 4) burnish

17- We had to do a very big project in university. The professor posted a ............ list of sources approved
for our use, so we didn’t have any problem finding good sources.
1) gist 2) rustic 3) comprehensive 4) cacophonous

18- 1 totally disagree with this. Such a theory appears to ............ the remarkable results of all experiments
since 1887.
1) beg 2) ignore 3) get along 4) encourage

19- In spite of being a ............ athlete at best, Dean had won the last three games he had.
1) pastoral 2) desired 3) covetous 4) mediocre

20- Everyone tells me I have talents in singing and you are the best singer in this country. If I can somehow
............ this gift I can’t do it without all your help.
1) utilize 2) omit 3) discourage 4) mislead

21- No one believed my boss had hit me, until I took an ............ that I was telling the whole truth.
1) opponent 2) accretion 3) ocean 4) oath

22- The thief said he didn’t want to steal the jewelry, but the price had ............ him to steal them.
1) advised 2) tempted 3) surprised 4) relieved

23- I can’t tolerate these dishes. They’re too old and dirty and some of them are broken. We must ............
them.
1) get rid of 2) alter 3) denigrate 4) investigate

24- They had to make the dog stay in the garden because the kid was so scared of the dog that he couldn’t
EVEN ..uueeeeeeee it
1) approach 2) sacrifice 3) diminish 4) oscillate

25- He had actually been beaten by his uncle, but he was ............ to tell the truth to his teacher, so he just
told him he had had an accident.
1) keen 2) intangible 3) reluctant 4) mysterious

PART C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark

the correct choice on your answer sheet.

1) You couldn’t believe this, but I have some tickets for the concert. Do you remember how long we’d waited
for this? Take a look on this ticket.
2) You don’t believe this, but I’ve got some tickets for the concert. Are you remembering how long we’ve
been waiting for this? Look at this ticket!
3) You can’t believe this, but I got some tickets for the concert. Do you remember how long we’ve waited for
this? Have got a look at this ticket!
4) You won’t believe this, but I’ve got some tickets for the concert. Do you remember how long we’ve been
waiting for this? Have a look at this ticket!

27-
1) I am not going to want to go out now. Look, it had been raining outside. I had a cold last week, and I got
better just recently. I don’t want to get sick again.
2) I don’t want to go out now. Look, it’s raining outside. I had a cold last week, and I’ve got better just
recently. I don’t want to get sick again.
3) 'm not wanting to go out now. Look, it rains outside. I’ve had a cold last week, and I’ve got better just
recently. I won’t want to get sick again.
4) I don’t want to go out now. Look, it rains outside. I had a cold last week, and I have better just recently. I
can’t get sick again.
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1) When Jean was being at college, she was used to have a picture of Elvis Presly on her bedroom wall. She’s
used to living in her house at that time. She’s not used to living in a dormitory.

2) When Jean was at college, she had a picture of Elvis Presly on her bedroom wall. She could have lived in
her house at that time. She does not used to live in a dormitory.

3) When Jean was at college, she used to have a picture of Elvis Presly on her bedroom wall. She used to live
in her house at that time. She’s not used to living in a dormitory.

4) When Jean is at college, she used to have a picture of Elvis Presly on her bedroom wall. She was living in
her house at that time. She used not to live in a dormitory.

1) Rachel is not having a car and she’s not going to buy one till next year, but she will be pleased if she will
pass her driving test.

2) Rachel doesn’t have got a car and she won’t buy one till next year, but she is pleased if she will pass her
driving test.

3) Rachel has no car and she can’t buy one till next year, but she could be pleased if she passes her driving test.
4) Rachel doesn’t have a car and she’s not going to buy one till next year, but she will be pleased if she
passes her driving test.

1) I’ve been thinking a lot lately about what I want to achieve in my life. In five years, I’ll be working as a dentist.
2) I’ve been thinking a lot lately about what I want to achieve in my life. In five years, I have been working
as a dentist.

3) I had thought a lot lately about what I want to achieve in my life. In five years, I’ll be working as a dentist.
4) I thought a lot lately about what I want to achieve in my life. In five years, I’ll have worked as a dentist.

PART D: Language Functions
Directions: Read the following conversations between two people and choose the answer choice (1), (2),

(3), and (4) that best completes the blank in the conversations. Then mark the correct choice on your
answer sheet.

31-

33-

34-

35-

36-
37-

A: Henry, why are you ...31... today? You haven’t talked much since you came in.

B: Yeah, it’s about my job. Actually, I...32....

A: Oh God. I’m sorry. Is there anything I can help you with?

B: Nope, thanks. Just don’t tell anyone. We haven’t ...33... to our sons yet. I don’t know how they’re
going to take it.

A: Oh, by the way, my boss is looking for a secretory and he asked me to introduce him a good one.
You can work there.

B: Wow, really? That’s great. You ...34... Matthew.

1) a happy camper 2) beating around the bush

3) working around the clock 4) down in the dumps

1) went to business 2) kid around 3) got canned 4) figured out

1) broken the news 2) taken tolls

3) made a pig of ourselves 4) driven a hard bargain

1) are in good spirit 2) nailed it 3) cheered me up 4) stabbed me in the back

A: Hey. I wanted to say I’m very sorry I ...35... and yelled at you. How can I make it up to you?

B: That’s ok dad. I know you’re going through a difficult situation these days.

A: Thank you darling. I don’t want you to worry about anything. I’ll pay the rent of the house. If
...36... I’ll sell my car.

B: That won’t be necessary. I’ve talked to my teacher at university. He’s found me a job. I’'m ...37...
teaching and they’re going to pay me in advance.

A: Well done, son. I’m really proud of you.

1) hit the nail on the head 2) lost my temper

3) gave you credit 4) plugged away

1) treated like dirt 2) I was kept posted 3) in any case 4) worse comes to worst
1) going into 2) the one and only

3) making a mountain out of molehill of 4) the scapegoat
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: I can’t stand this painting. Why don’t you get rid of it?
: Because it has ...38...!
: How could you do that? It’s crazy!
: Well, I don’t think so. Actually, I like it.
: I guess there’s ...39... . I would never hang this kind of painting on the wall of my living room.
: No one has asked you to do that. Your house, your call.
: I think you ...40... . I didn’t mean to upset you. I’m sorry.
: Never mind.
38- 1) cost me an arm and a leg
3) mixed feelings
39- 1) a sweet tooth
3) no accounting for taste
40- 1) misheard me

PART E: Cloze Test

WP wpewew e

2) crash course
4) gone nuts

2) crunch time

4) a goody-goody
3) blew it

2) did the trick 4) took it the wrong way

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space.
Then mark the correct choice on your answer sheet.

Tropical rainforests are among the most ...41... of all geographical biomes in the world. They really
surprise you. A biome is an area with very distinctive plants and animals that ...42... to life in that
particular environment. Rainforests ...43... large portions of the Earth for millions of years, and can have
trees that are 1,000 years old or more. They are called rainforests because they are ...44... the wettest areas
on Earth, receiving anywhere from 80 to 100 inches of rain a year. In most rainforests, the ...45... ranges
from 70 to 85 degrees Fahrenheit all year long, and the air is almost always ...46... and damp. Rainforests
have four very distinct layers of trees. The first is the emergent layer which has ...47... trees growing from
100 to 240 feet tall. These trees have umbrella-shaped crowns that grow high above the rest of the ...48....
They have their own distinct plant and animal life. The next layer is called the canopy. These trees grow up
to 130 feet tall, and they form a tight canopy, or covering, over the rest of the jungle which ...49... very
little sunlight to come down. The branches and trunks of these trees ...50... with smaller plants and appear
to be tied together with hundreds of vines. About 90% of all rainforest animals ...51... way up high in the
canopy. The third layer is the understory, and it’s very shady. Only about 15% of the sunlight from the
canopy falls, and it tends to be very warm and damp. Trees and leafy plants that ...52... little sun grow
here, with the trees growing to about 60 ft. This layer has many smaller trees, shrubs, vines, and plants, but
little air movement. There are many animals and ...53... that live in this layer. The final layer of the
rainforest is the forest floor. It is surprisingly dark and less than 2% of the sun’s light ...54... this area.
Because the sun’s rays don’t shine on the ground, there is very little plant life on the forest floor. It is an
area covered with fallen leaves, seeds, dead flowers, and fruits and branches that decompose very quickly.
It also has a distinctive ...55... of animals and plants that live here.

41- 1) reasonable 2) mysterious 3) known 4) typical

42- 1) had adapted 2) would adapt 3) will be adapted 4) have adapted
43- 1) have covered 2) cover 3) covered 4) would cover
44- 1) under 2) among 3) between 4) together

45- 1) temperature 2) rain 3) majority 4) miniature

46- 1) horrified 2) harrowing 3) humid 4) herbivorous
47- 1) witty 2) discerning 3) jointed 4) giant

48- 1) forest 2) biome 3) world 4) neighborhood
49- 1) professes 2) proscribes 3) proliferates 4) permits

50- 1) had covered 2) are covered 3) cover 4) were covering
51- 1) had lived 2) would live 3) live 4) will be lived
52- 1) haul 2) overestimate 3) require 4) ignore

53- 1) insects 2) organs 3) objects 4) subjects

54- 1) reaches 2) calculates 3) militates 4) malingers

55- 1) archeology 2) discretion 3) stigma 4) variety
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PART F: Reading Comprehension
Directions: In this part of the test you will read three passages. Each passage is followed by five

questions. Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your
answer sheet.

Passage 1:

The inner solar system is the name of the terrestrial planets and asteroid belt. Terrestrial is just a fancy
way of saying rocky. Like the Earth, terrestrial planets have a core of iron and rock.

At the center of the solar system is the Sun. The Sun is a big ball of hydrogen powered by nuclear
reactions. Massive explosions are going on all of the time inside the Sun. It’s what makes the light every day
and keeps our planet warm. Light zips from the Sun to us in about eight minutes. The Sun is the most massive
thing in our solar system. It is so big you could fit about a million Earths inside of it!

Closest to the Sun is the planet Mercury. You could squeeze about eighteen Mercury’s inside of Earth. It
is made of mostly rock, but it has a huge iron core and it generates a big magnetic field. Speedy little Mercury
sails around the sun in only eighty-eight days. Mercury was the messenger of the gods in Roman mythology,
known for his speed.

Second in line comes Venus, which is sometimes called Earth’s twin. It’s about the same size as Earth, but
that’s where the similarities end. Venus is always covered in thick clouds full of sulfuric acid. They whip
around the planet at more than two hundred twenty mph. Violent winds shoot sand made of silicate around
Venus’s very dry, arid surface. The temperature averages nine hundred degrees, and the pressure’s ninety
times that on Earth. It takes two hundred and twenty-four days to orbit the sun. Like Mercury, Venus was
also named after a Roman Goddess, the Goddess of love.

You know what planet is next. You live on it! Yup, the Earth is number three. We have a rocky iron core
at the center of our planet. We have liquid water, and our air is made of mostly nitrogen and oxygen. It takes
three hundred and sixty-five days for us to circle the sun. We only have one moon.

Next to us is Mars. Mars also has a core of rock and iron. It is a little more than half the size of Earth. The
most distinct feature about Mars is its red color. Dust rich in iron oxide covers the planet. It’s sort of like the
planet is rusting. White caps at the poles are water, forever frozen because of the colder temperatures further
from the Sun. The only place the temperature rises above freezing is at the equator, or the middle of the
planet. Mars has two moons, Deimos and Phobos but they are much smaller than our own moon. It takes
nearly twice as long for Mars to circle the sun at almost 684 days.

The last part of the inner solar system is called the Asteroid Belt. It’s the line between the inner rocky
planets and the outer gaseous planets. Unlike the rest of the Inner Solar System, the Asteroid Belt isn’t a
planet at all. It is a bunch of large rocky chunks, mostly meteoroids. There’s also a dwarf planet named Ceres
in the asteroid belt. The rest aren’t very large.

The Earth is the only planet that we know of with life on it, but universe is a big place. Much of our solar
system is still a mystery, there is still plenty to explore.

56- How does the size of Mercury compare to Earth?

1) Mercury is 18 times the size of Earth. 2) Mercury is 1/18 the size of Earth.

3) Earth is 1/18 the size of Mercury. 4) Earth is 18 times smaller than Mercury.
57- Which statement about the inner planets’ orbits is true?

1) Venus orbits the sun more quickly than Mercury.

2) Mercury orbits the sun more slowly than Mars.

3) Earth orbits the sun more quickly than Venus.

4) Mars orbits the sun more slowly than Earth.

58- Which would be the most appropriate nickname for Venus?

1) the cold desert planet 2) the first inner planet

3) the windy planet 4) the triple mooned planet
59- How long does it take light to travel from the sun to the Earth?

1) 2 minutes 2) 2 years 3) 8 minutes 4) 80 minutes
60- Based on the reading what does the word “terrestrial” mean?

1) rocky 2) soft 3) windy 4) light
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Passage 2:

Lilly loves her new town. She loves the mall. She loves the parks. She also loves her school. Most of all,
though, Lilly loves the seasons. In her old town, it was hot all of the time.

Sometimes it is cold in Lilly’s new town. The cold season is in winter. Once in a while it snows. Lilly had
never seen snow before. So, for her, the snow is exciting as well as very beautiful. Lilly has to wear gloves to
keep her hands warm. She also wears a scarf around her neck.

In spring, flowers bloom and the trees turn green with new leaves. Pollen falls on the cars and windowsills
and makes Lilly sneeze. People work in their yards and mow their grass.

In summer, Lilly wears her old shorts and sandals- the same ones she used to wear in her old town. It’s
hot outside, and dogs lie in the shade. Lilly and her friends go to a pool or play in the water sprinkler. Her
father cooks hamburgers on the grill for dinner.

Lilly’s favorite season is autumn. In autumn, the leaves on the trees turn yellow, gold, red, and orange.
Halloween comes in autumn, and this is Lilly’s favorite holiday. Every Halloween, Lilly wears a costume. Last
year she wore a mouse costume. This year she will wear a fish costume.

One evening in autumn, Lilly and her mom were sitting together on the porch. Her mom told Lilly that
autumn is also called “fall”. This is a good idea, Lilly thought, because in fall all of the leaves fall down from
the trees.

61- Which of the following words best describes the way Lilly feels about living in her new town?

1) skeptical, meaning questioning or showing doubt

2) apprehensive, meaning anxious or worried

3) overjoyed, meaning extremely happy

4) content, meaning satisfied with what one is or has

62- This passage is mainly about ............ c
1) Lilly’s favorite season 2) Lilly and the four seasons
3) Lilly’s favorite activities during winter 4) Lilly’s favorite Halloween costumes

63- What is Lilly’s favorite thing about her new town?
1) her school 2) going to the pool
3) the food 4) the seasons
64- In paragraph 2 the author writes, “She also wears a scarf around her neck.” What is the best way to
rewrite this sentence while keeping its original meaning?
1) In addition, she wears a scarf around her neck.
2) However, she wears a scarf around her neck.
3) Nevertheless, she wears a scarf around her neck.
4) As a result, she wears a scarf around her neck.

65- Based on information in paragraph 5, which of the following costumes is Lilly most likely to wear next

year?
1) a princess costume 2) a fairy costume
3) a ghost costume 4) a bird costume
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Passage 3:

What Australian mammal can leap 25 feet in one hop and move for short periods at 35 miles an hour?
The red kangaroo. A full-grown male stands as tall as a six-foot person and weighs 200 pounds. This is slightly
bigger than the grey kangaroo, making it the world’s largest marsupial. What’s a marsupial? A mammal
where the mother has a pouch for carrying, feeding and protecting her young.

While a red kangaroo may be the largest marsupial, the newborn baby is tiny, under an inch long. After a
few months of sleeping, nursing and growing in mom’s stomach pouch the young kangaroo (joey) begins to
come out. But it hurries back to the pouch fast when frightened, hungry or cold. Eventually, the joey gets so
big it hangs out of the pouch. Then, at eight months old, it stays out. But the joey remains close to mom until
it’s ready to live on its own.

Red kangaroos are good swimmers. However, they are best known for their hopping abilities. Their long,
powerful hind legs have big feet. Hopping moves them quickly over their grassy, shrubby and desert habitats.
Meanwhile, a thick tail helps them balance and steer.

What do red kangaroos eat? Grass, leaves and other vegetation. It means they’re herbivores. And guess
what - they often regurgitate food and chew their cud just like a cow.

The red kangaroo’s vegetarian diet provides much of its water. It can also go long periods without
drinking. Staying in the shade, panting and limiting most activity to nighttime helps the red kangaroo
conserve water and stay cool.

Red kangaroos travel together in groups called mobs. Mobs include both males and females, with one
male being dominant. Males show their dominance by “boxing” with other males. They balance on their tails
and try pushing each other off balance with their forearms or by kicking their hind legs. This kicking ability,
along with their sharp claws, can also be used by kangaroos to defend against Australia’s wild dog, the dingo.
66- Red kangaroos are ............ .

1) omnivores 2) carnivores
3) herbivores 4) insectivores
67- Which of the following is NOT a way kangaroos keep cool?

1) They stay in the shade. 2) They pant.

3) They’re mostly active at night. 4) They don’t eat meat.
68- The pronoun “her” in line 4, refers to ............ .

1) mammal 2) mother 3) young 4) pouch
69- When does a baby kangaroo come out of its mother’s pouch for the first time?

1) about a month after it is born 2) a few months after it is born

3) about 8 months after it is born 4) when it is a year old

70- A group of kangaroos is called a ............ .
1) mob 2) joey 3) pouch 4) grey kangaroo
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